What would you do f you f6URE $40,000?

money.

Mia: if | found $40,000,

2. listen again and order Mia’'s wishes.

T ¥
c) / l‘:»— | would spend it on clothes.
n' -
d) 4 .| « |couldtake anice long vacation.
L PAMATRRE

(possible consequences)

1. Listen to the conversation and check the things Mia would do with the

I'd keep it.

if | foURd $40,000}

| could buy a new car
or take along
vacation.
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3. Respond the following questions.

a) Did Mia find the $40,0002 | Yes No
b) The Simpleipast is used in the iMGgINGRYSIUGHONI | Yes No
c) The possible consequences use modals. | Yes No

d) What would you do if you WBH the lottery?

| would buy a new car il | WeR | will buy @ new car if | WER
the lottery. the lottery.
For the verb BE, WAS
or WERE is used with
4. Click on the sentences that are correct. all the pronouns.
Example: If|'WAS
if | didatWin the lottery, | wouldn’t buy a new car. rich, | would invest

the money.

| might build a shelter for the stray dogs if | Were rich. MBRRERE rich, | would

| will have a pet lf my mom Washd allergic. invest the money. If
you WAS rich, you
if | WS the president of my country, | eould do a lot for my people. [T

5. Choose the correct answer.
a) 1 WeR the Ilottery, | travel around the world.

would will

b) My friend could ask three wishes i she a magic lamp.

c) What eould you do if you the president of your country?2

are were The last exercises are

examples of imaginary

situations.
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